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QUESTION 1

Which user can create administrator accounts and change the administrator password in Oracle Exadata Cloud
Service? 

A. system 

B. Account Administrator 

C. Identity Domain Administrator 

D. sys 

E. Service Instance Administrator 

Correct Answer: C 

Reference: https://docs.oracle.com/en/cloud/paas/exadata-cloud/csexa/service-roles-and-users.html 

 

QUESTION 2

Which two statement are true about enabling the write-back flash cache? 

A. When enabling the write-back-flash-cache in a rolling manner dbcli should be used to inactivate the grid disks on all
cells first. 

B. Before write-back-flash-cache is enabled you need to drop the flash cache first. 

C. Write back flash cache requires a minimum required software version. 

D. When enabling write-back-flash-cache in a non-rolling manners it is important to ensure that
asmdeactivationoutcome is set to yes and asmmodestatus is set to online for all grid disks. 

E. flashcachemode should be set to write back by updating cellinit.ora and restarting cellsrv. 

Correct Answer: BC 

 

 

QUESTION 3

Which statement explains the difference between Normal and High redundancy ASM failure groups? 

A. Normal redundancy protects the DATA diskgroup, whereas High redundancy protects the RECO diskgroup. 

B. Normal redundancy (best practice) provides protection against two simultaneous disk failures, whereas High
redundancy provides protection against a single disk failure or an entire storage server failure. 

C. High redundancy gives more usable storage, whereas Normal redundancy provides better I/O performance. 

D. Normal redundancy protects from disk failure when a cell is offline or being updated, whereas High redundancy

1Z0-338 PDF Dumps | 1Z0-338 VCE Dumps | 1Z0-338 Braindumps                                2 / 4

https://www.pass4itsure.com/1z0-338.html
https://www.pass4itsure.com/1z0-338.html
https://www.pass4itsure.com/1z0-338.html


https://www.pass4itsure.com/1z0-338.html
2024 Latest pass4itsure 1Z0-338 PDF and VCE dumps Download

protects the system when all the cells are offline. 

E. Normal redundancy tolerates a single cell failure, whereas High redundancy tolerates a two-cell failure. 

Correct Answer: E 

 

Reference: http://blog.umairmansoob.com/tag/using-high-vs-normal-redundancy-in-exadata/ 

 

QUESTION 4

Your customer would like to install security software on all systems that are hosted out of their datacenter. Which
statement correctly identifies Oracle guide line on where security software can be installed on Exadata? 

A. The security software can be installed on the database server or a storage cells as long as the software is certified for
Oracle enterprise Linux. 

B. The security software can be installed on the database server or storage cells as required. 

C. The security software can be installed on database server but not on the storage cell. 

D. The security software can be installed on database server but not on the storage cells unless the software is explicitly
certified for Oracle enterprise Linux. 

Correct Answer: C 

 

 

QUESTION 5

To patch an Exadata cloud instance, you need to run the exadbcpatchmulti command as root from the compute node.
exadbcpatchmulti uses the exadbcpatch.cfg file to provide information about the location of files related to patching
operations as well as additional parameters related to these operations. 

What is the purpose of the sw_bkup_needed=1 parameter that can be set in the exadbcpatch.cfg file? 

A. creates a backup of the patch in case of an error in the patching routine 

B. performs a backup of each Oracle home directory before a patch is applied 

C. forces the software to create a backup of the exadbpatch.cfg file 

D. adds a dialog box that prompts for a backup before the patch can be applied 

E. creates a backup of the Oracle database data files 

Correct Answer: E 
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